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CBSE Guess Paper 

Class: XII        
CHEMISTRY(Theory)
Time allotted: 3hours




       Maximum Marks: 70

[image: image1.png]
General Instruction:

a) All questions are compulsory.

b) Question number 1 to 5 is very short answer questions, carrying 1 mark each. Answer these in one word or about one sentence each.

c) Question number 6 to 12 are short answer questions, carrying 2 mark each. 


Answer these in about 30 words each.

d) Question number 13 to 24 are short answer questions, carrying 3 mark each. Answer these in about 40 words each 

e) Question number 25 to 27 are long answer questions, carrying 5 mark each.


Answer these in about 70 words each.

f) Use Log Table, if necessary. Use of calculator is not permitted.


SET – I
Q.1
How many effective sodium ions are located at the centres of faces of a
           unit cell in a sodium chloride crystal?






(1)

Q.2
Equimolar solutions of sodium chloride and glucose are not isotonic. Why?  (1)
Q.3
A reaction is found to be zero order. Will its molecularity be zero? 

(1)
Q.4
Propose the mechanism for the following reaction:


                     (1)


             dil. NaOH

2CH3CHO


CH3 – CH – CH2-CHO














 OH

Q.5
Write the IUPAC name of the compound:
C6H5NH2


          (1)
Q.6   (a)   Why is H2+ more stable than H2​​​   even though they have the same bond order?
(b) What is the significance of Radial probability function (4πr2R2)?

(2)
Q.7
Calculate  ΔrG°  for conversion of oxygen to ozone:


 3  O2(g) 
      O3(g) at 298k.


 2


Kp for this conversion is 2.47 x 10-29  (R = 8.314 J mol -1k-1)


(2)
Q.8
How is [ (CH3)2 SiO]n prepared? Write its two applications.                 
          (2)
Q.9
Assign R and S designation to the following:





(2)



CH3



CH3


   H



   H





CH3H2C

  OH

Br                  COOH



       (a)



 (b)





Q.10  Identify A and B in the following reactions:





(2)

        (i)  CHCl3 +  NaOH 
                         (CH3CO)2 O


A



   C6H5OH



       B

                   (ii)  dil.HCl







OR


Write the reactions and conditions involved in the following conversion :
 
(a) Acetic acid to ethyl alcohol

(b) Cumene to phenol

Q.11  Illustrate with equation, 1, 2   polymerisation.




      (2)
Q.12  Account for the following:

(a) Sulphur in vapour state exhibits paramagnetism. 

(b) Among the noble gases, only xenon is known to from true chemical

       compounds. 









       (2)
Q.13
An electron has speed of 500 m/s with  uncertainty of 0.02%. What is the 


uncertainty in locating its position?  (h = 6.6 x 10-34 Kg m2s-1, m = 9.1x10-31kg)     (3)
Q.14  Calculate the packing efficiency in case of a metal crystal for face 
          centred cubic.









       (3)
Q.15
What is meant by positive and negative deviations from Rault’s law and how is the sign of    H related to positive and negative deviations from Raoult’s law?

         

Q.16  Predict the sign of entropy change for each of the following processes:

(a) Dissolution of iodine in a solvent.
(b) HCl is added to AgNO3 solution and precipitate of AgCl is obtained. 
(3)
(c) A partition is removed to allow two gases to mix.

Q.17  At elevated temperatures, HI decomposes according to the chemical equation:

2HI(g)               H2(g) + I2(g)  

at 443°C. The rate of the reaction increases with concentration of HI, as shown 


in  the following table:

	
	              1
	            2
	           3

	HI mol/L

Rate mol L-1s-1
	          0.005

        7.5 x 10-4
	         0.01

    3.0 x 10-3
	       0.02

  1.2 x 10-2


(a) Determine     (i)  order of reaction

             & (ii)  write the rate expression

(b) Calculate the rate constant and give its units.




    (3)
Q.18
Give reasons for the following:







    (3)
(a) Enzyme catalysts are highly specific in their action.

(b) The path of light becomes visible when it is passed through As2S3 solution
       in water. 

(c )  The enthalpy in case of chemisorptions is usually higher than that of physiosorption. 









Q.19
(a)  Write the balanced equation for the following reaction:


       LiH + AlCl3   

                              Et2O
(b)  Arrange HOCl, HOClO, HOClO2 & HOClO3 in the order of increasing 

 acidic strength and account for it. 








OR
(a) What is meant by catenation? How does catenation tendency for elements

of group 14 vary?

(b) Name the element in group 15 which does not form pentahalides.

   (3)
Q.20
(a)  Define ambidentate ligands.


(b)  Give IUPAC name of [Co(NH3)5Cl] Cl2

(c)  Mention one factor which determines the magnitude of     , the orbital 


       splitting energy.








  (3)
Q.21
(a)  Complete the following nuclear reaction:


      12C6  undergoes (D, n) reaction. 

(b) Describe the group displacement law along with an example.

  (3)
Q.22
(a)  Write chemical tests to distinguish the following pair of compounds:

(i) Phenol and Benzoic acid

(ii) CH3CHO  and CH3COCH3


(b)  Write the chemical equation exemplifying  Hoffmann Bromamide
       reaction.









(3)
Q.23  (a)  Give reasons for the following:

(i) The basic strength of aliphatic amines in solution is in the order 
2°   >   3°   > 1° .

(ii) Nitro compounds have higher boiling points than hydrocarbons having 

nearly same molecular mass. 

(b)    By giving an example describe carbylamine reaction.


(3)
Q.24
Describe the following with suitable examples.:

‌
(a)  Tranquilizers       (b)  Mordant dyes

(c)  Preservatives

(3)
Q.25
(a)  Calculate the standard electrode potential of Ni / Ni +2  electrode if 
                 the cell potential of the cell:


      │Ni │‌Ni+2 (0.01M)  ││   Cu+2 (0.1M) │ Cu│    is 0.59 V 

      Given:  E°Cu+2/Cu   = 0.34V


(b)  Explain in short why electrolysis of aqueous NaCl solution gives H2

      at  cathode and Cl2 at anode. Write the overall reaction. 

      Given :
E°Na+/Na = -2.71V

          
          E°Cl2 /2Cl ¯ = 1.36V    
                     ½ O2(g) + 2H(aq) + 2e¯            H2O( l )          E° = 1.23v

(5)
Q.26
(a)  Identify the species from A to D in the extraction of silver from its ore (A)



      CN¯(aq) , O2(g) 

  Zn(s) 


      A   


  B 


C + D



      H2O(l)
(b)  Give reasons for the following:

(i)  With d4 configuration Cr+2 is reducing where as Mn+3 is oxidisiing.  


      (ii)  Interstitial compounds are well known for transition metals

 (iii) The highest oxidation state of a metal is exhibited in oxides and fluorides.

 






OR

       Answer the following:

(a) K2Cr2O7 is orange in colour but turns yellow in alkaline medium why?

(b) Draw the structure of dichromate and chromate ions.

(c) Name the metals extracted from the ores (i)  Cinnabar  (ii)  Proustite
(d) Evaluate the magnetic moment of a divalent ion in aqueous solution 

if its atomic number is 25.






    (5)
Q.27
(a)  Explain why fructose reduces Fehling’s and Tollen’s reagents in alkaline 


      medium although it does not contain – CHO group.

(b)  Draw the Haworth structures of  (–D (+) glucopyranose 

          (c )  Define mutarotation. 


(d)  How will you show that Aminoacids are amphoteric in nature? 

     (5)
-------------------------------------------------------------------------------------------------------
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